Questions 1 fo 15 cany 2 marks each. For each question, four options are given. Cne of
them is the correct answer. Make your choice (1, 2, 3 or 4). Shade the correct aval

{1, 2, 3 or 4) on the Optical Answer Sheel. (30 marks}
1. Irt which of the following numbers does the digit 9 stand for 8007
{1} 9408
(2y 8804
(3) 8094
{4y 4088
2. 23 thousands and 8 tens is the same a5
(1) 238
(2} 2380
(3) 23 080
(4) 23 800
1
3. Which of the following is not an equivalent fraction of r ?
3
M 5
2
@ 3
53
@ =
a5 =
@ 3
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4. Which of the following mixed numbers is represented by the letter X in the number
fine shown?

R T U WO MO T T
L A
1 2 T 3
X
M 2
(2 2%
@ 2%
@ 23

5. Arrange the following decimals from the smallest to the greatest.
6.7 , 0,76 , 8.07 , 0.67

{smalfest) {greatest)
{1} 067 . 078 , 6.07 , 8.7
2y 076 , bﬂ,ﬁ? ., B80T, 87
3y 067 , 67 . 807 , O78
4y o078, 087, &7 , 807
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8. One of tf}e fines in the figure is parallel to £F. Which line is parallet to EF7

;

J
H
E G
F
{1} FH
2y
3y I
4 JG
7. in the figure below, which angle is greater than g right angle?
{1y 4w
(2} £X
3
(4) «z
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8. in the figure below, ABCD is a rectangle. £BAF = 35° and LDAE = 30°.

A B

Find <EAF.
(1 5°
@ 15°
3 25°
(4)  65°

9. Which of the following is the best estimate of the mass of a Shaping Maths Activity

Bock?

(1) 4000g
(2) 4009
{3y 40g
4 4g

10. 72 children participated in a Lantern Making Comnpetition.
% of them were girls, How many girls participated in the competition?

%)) 54
{2) 48
(3) 24
{4) 18
MA P4/ EYE 12020 Page4of 8 {Go on to the next page)
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11, Mrs Lam took 3 h 10 min to clean her house. Mr Veera took 55 min less than
Mrs Lam to clean his house. They started cleaning at the same time at 1.15 p.m.
What time did Mr Veera finish cleaning his house?

(1) 3.3G p.m.
{2y 4.10pm.
(3) 425pm.
4y 520p.m.

12.  The table below shows the different types of food that a group of adults like.

Chicken Rice | Roti Prala Nasi Lemak Spaghetti
Men 13 11 14 4
Women 8 6 9 12

How many more adulfs like Nasi Lemak than Chicken Rice?

(y 1
@ 2
(3) 6
@ 7

13.  Mandy writes a whole number on a card. The number is between 40 and 60 and it
is a multiple of 6. If she adds 12 to the number, it will be a multiple of & and 10.
What is the whole number that Mandy writes on the card?

(1) 42
2y 48
@) 54
4y 80
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14, Farmer Ling planted 8 seedlings in a row. The seedlings were planted at the same
distance apart. The distance between svery two seedlings was 32.4 cm.

32.4 cm
cJ2Aem
@ N ¢ K &
~je e [ ] N ~j&
1st 2nd 3rd 4th 8th

What was the distance between the first and the eighth seedling?

{1 1134 cm
(2) 129.6cm
(3) 226.8cm
(4) 259.2¢m

15.  The figure ABCDEFG below is made up of 2 rectangles. AB =8 cm, AG = 12cm
and the perimeter of the figure is 70 om.

A_Scm B8
. E E
What is the length of CD?
{1) 15 cm
(2) 18 om
{3y 25¢ocm
4y 30cm
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Questions 16 o 35 carry 2 marks each. Show your working clearly in the space below each
question and write your answers in the spaces provided. For questions which require units, | 5o not writ
give your answers in the units stated. {40 marks) | in this spac

16.  Round 32 450 to the nearest hundred.

Arswer :

17.  Whatis the remainder when 4197 is divided by 87

Answer :

18. Some faclors of 40 are 1, 2, 5, 8, 10 and 40. What are the other two factors of 407

Answer and

19.  Amange the following fractions from the greatest to the smallest.

i 2 7
2 ‘ 3 , 12
Answer : o} 3
{greatest} {smallest)
SCORE
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20. What fraction of the stars shown are shaded?

* Kk % Xk

XXXk

Answer :
21.  Write the decimal represenied by A.
T
e b
9.3 9.4
Answer :
22 Ex o7 decimal
02, press 100 as a decimal,
Answer :
23. B85-074=
Answer:
SCORE
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. . Do ot write
24, Measure and write down the size of £x. in this space

Answer : o

25,  inthe square grid, PQ and QR are straight lines. PQ and QR form the sides of a
rectangle PQRS. Complefe the drawing of rectangle PQRS.

SCORE
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26.  In the figure below, the dotted line is the line of symmetry. Whatis the minimum
number of squares needed to be shaded to make the figure symmetrical?

Answer ¢

27.  The square grid shows the positions of points A, B, C, D and E.

F B
&— &
A
@: North
D
oy I ]t
.':Js E

(8)  Which point is south-east of point A?

3
{b} Mandy stood at a point facing south. She made 2 p fumina
clockwise direction and ended up facing point 3. Which point was

Mandy af?
Answer : {a) Point
{b) Point
SCORE
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28.  The diagram below shows the amount of water Miss Tay has prepared for her i

“ins this spacs
baking class. How much more water must she prepare to make 2 £2 Give your
answer in miliilitres.

N 500 mi N 500 mi
Answer — mi
28. A picture measuring 11 cmby 9cmis miounted on a recfangudar cardboard
leaving a border of 2 om all around. What is the area of the rectangular
cardboard?
P 11 cm -
Al
gem |2 cm 2cm
A4
Answer : cr?
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30. Kathi bought a plant thet was 6 cm {all. She measured the height of the plantin
the evening every fifth day and recorded its height for 30 days. The fine graph

shows her records.

40
Height ‘ e S e
of plant : . ra

10

o ,

5 10 15 20 25 30
Day

{a)  In which five-day period did the plant grow the most?

{b) What was the increase in the height of the plant recorded from Day 10 to

MM aO4an

D ot verits
in this spac

Day 157
Answer : {a) Day to Day __
(0) . cm
SCCRE
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31 Mrs Nurul and Mrs Wong had the same amount of money. After Mrs Nurui in ﬁ;‘;{,“;;‘;

bought 3 kg of prawns, she had $17.90 left. Mrs Wong needed $28.60 more to
buy 8 kg of prawns. How much did 1 kg of prawns cosi?

Answer: $

32.  Asupermarket has a special offer on soda drinks.

1 canfor $2

SPECIAL OFFER PRICE:
5 cans for 7

Zena buys 106 cans of soda drinks. What is the least amount of money she
needs fo pay?

Answer : $

SCORE
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33.  Mr Tong bought a shirt with §~ of his money. Then he bought a wallet which cost

$15 more than the shirt. He had $80 leit. How much money did Mr Tong have at
first?

Answer: %

34. A rectangular piece of paper is shaded on one side. It is folded fo form a shape as
shown below. Find the perimeter of the rectangular piece of paper before it was

folded.
Scm.
§ ’
i
1
5 om
Answer : am
SCORE
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85.  The graph below shows the mass of a cup when different combinations of objects

A, B and C are placed in the cup.

220

206

180 |

160 |

140 +
120 1
100 |
o
60
40 ]

Mass
(g

Based on the bar graph above, read the statements and put a tick (¥} in the

gorrect box.
Not
Statements True False Possibie
B ‘ fo Tell
(a) Themassofthe cupis 70 g.
(b} Object A is the heaviest.
SCORE
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For questions 36 fo 43, show your working clearly and write your answers in the spaces | inthis spact
provided. The number of marks available is shown in brackets [ ] at the end of each

question or part-question. (30 marks)

36.  Noraini used 1% m of a piece of cloth to make a dress. She made a shirt which
3
required i less cloth than the dress.
(a)  How much cloth did she use for making the shirt?

{b)  How much cloth did she use altogether?
Give your answer in its simplest form.

Answer : (a) {2}
{0) 12
SCORE |
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37.  Inthe figure below, ABCD is a rectangle and X is 2 square of area 81 cm’ ; ﬁiéf J.ZL@

e 13cm __15¢m c

289 cm

{a} Whatis the length of AB?
(b} Whatis the area of ABCD?

Answer : (g} 2]
{b) f1]
SCORE
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38. Mrs Mun baked some tarts and packed them into boxes of 4. She packed 592 in this spact

boxes in all.
{a) How many tarts did Mrs Mun bake?

(b) Mrs Mun sold all the boxes of tarts except for 15 boxes. Each box of tarts
was sold at $6. How much money was coliected from the sale of the tarts?

Answer : (a) [2}
b} . {21
SCORE
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39.

/

-

The following are the entrance fees to Siloso Water Theme Park.
Use the information to answer the questions below.

Entrance Fees:

Weekdays Weekend Family Package
Adult: $23.60 2 Aduits 2 Children : $50.80 ;,f’
Child : $11.80  Additional Adult  : $25.70 f

Additional Child  : $13.80

(a) Mrs Johnson took her parents and 2 children to Siloso Water
Theme Park on Saturday. How much entrance fees did she pay?

b not write
in this space

(b}  MrHeng and his child went to Siloso Water Theme Park on Friday,
He paid the cashier $50 for the entrance fees and received some change.
How much change did Mr Heng receive?
Answer : {(a) {2
{b} e 2
SCORE
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40, Farah had 48 beads fower than Emma at first. After Farah gave Emma 18 beads, | inthis spacs
Emma had three times as many beads as Farah. How many beads did Farah

have at first?

Answer : . {3}

SCORE
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41 The graph below shows the number of boftles of fruit juice sold in & week.

Number
of bottles
of fruit
juice sold
Sat Sun
{a}  ADlot of ink was accidentally dropped on the graph.
Hew many bottles of fruit juice were sold on Sunday?
(b}  On which day was twice as many bottles of fruit juice sold as on Thursday?
{c} Express the number of botiles of fruit juice sold on Monday as a fraction of
the total number of botiles of fruit juice sold from Monday to Wednesday.
Answer : (8} {11
(b} M
{c) 2]
SCORE
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42. The table shows the schedule of events at a carnival.

Magic Show »

Treasure Hunt 1.00 p.m. _12h15min-
1 Horse Riding. 2.05 p.m. 35 min

Colouring Competition ' 3.00 pam. 1h20 min

Balloen Sculpting 3.20 p.m. 25 min

{a)  Joel wants to watch the Magic Show at 11.30 a.m. What time wili the
show end? Give your answer in the 12-hour clock.

{b)  HuiLing will be at the carnival from 12.30 p.m. to 3 p.m. Which activity
can she take part in?

(¢} Jumiah wants to take part in the Treasure Hunt and Balloon Scuipting.
How much more time will she spend in Treasure Hunt than in Balloon
Sculpting? Leave your answer in h and min.

Answer : (a) _ Bl
(b) 1
(c} 2]
SCORE
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43.  The figure below is made up of 6 idenfical rectangles and a shaded i

} in this space
rectangle ABCD. The area of ABCD is 188 cm?and BC = ¢ om,
A
Scm
A4
(a)  Find the length of CD.
(b} Find the total area of the 6 identical rectangles.
Answer : (a) 1]
(b) 3]
End of Paper
Setby : Mrs Eilsen Sew and Mrs Peggy Leong
SCORE
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ANSWER KEY

BOOKET A

Q1

O
w

2 Q2 Qa3 Q4

&

Q6

H

w
N

4 Q7 Q8 Q9 Q1o |1

Q11

1 Q12

N

Q13 |2 Q14 |3 Q15 |1

BOOKLET B

Ql6

32500

Q17

remainder=» 4197:8
524R5
Ans: 5

Qi8

4 and 20

Q19

7

Q20

8
11

Q21

9.38

Q22

Q23

Q24

Q25

Q26

Q27

{a)Point E
{b)Point C

Q28

1250ml

Q29

Area*» 13x15
=195¢m?
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| Q30

(a) Day 20 to Day 25
{b)4cm

Q31

Skg= 17.90+29.60
=47.50

1kg> 474.5035
=$9.50

Q32

Groups of 5 in 105 10535
=21

105" 21x7

=147 i

106> 147+2 °

=$149

Q33

1 unit=90+15

=105

money at first® 105x5
=8525

Q34

Perimeter=>» 25+14+25
=64cm

Q3s

(a)True
(b)True

Q36

=11 b)

Q37

(a)Length of X=» 9x9
=81

AB=> 13+9+15

=37

Area of ABCD=» 37x29
=1073

(a)37ecm

(b)1073cm?

Q38

{(a)Tarts=» 592x4
=2368

(b)Boxes sold=»592-15
=577

Money=>577%6

=3462

Q39

{a)Pay=> 50.80+25.70
=76.50
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{b)Mr Heng and Child=» 23.60+11.80
=35.40

Change=» 50-34.40

=14.60

! (a)$76.50

(b)$14.60

Q40

2 units= 18+4+18
=84

1 unit=84:2

=42
Farah=42+18
=60

Q41

(a)ao
(b)Day=» 14x2
=28 (wednesd 07 )
(c}Mon to Wed¥24+20+28
=72

. 24
Fractlon-);;

Q42

(a)12.15p.m.

(b)Horse Riding

(c)More time"» 2h15min~25min
=1h75min-25min

=1h50min

Q43

(a)CD=>» 189:9

=21

(b)Breath of 1 rect.=» 21-9-9
=3

Area of 1 small rect.=» 12x3
=36

Area of 6 small rect.=>» 36x6
=216cm’
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